
Unfavourable Outcomes=Total Outcomes−Favourable Outcomes

3𝐵𝑙𝑢𝑒: 2𝑅𝑒𝑑
         3 ∶ 2

Odds in favour of Blue : Odds in favour of Red :

You have 3 blue marbles and 2 red marbles in a bucket, a total of 5 marbles.

R       RB       B        B

3𝑅𝑒𝑑: 2𝐵𝑙𝑢𝑒
         2 ∶ 35 − 3 = 2 5 − 2 = 3

Pick a Card. 

Choose a Marble. What are the odds?

4 𝐴𝑐𝑒𝑠 ∶ 48 𝑂𝑡ℎ𝑒𝑟 𝐶𝑎𝑟𝑑𝑠
          4 ∶ 48
          1 ∶ 12

What are the odds of choosing an Ace? What are the odds of choosing a Heart?

52 − 4 = 48

13 𝐻𝑒𝑎𝑟𝑡𝑠: 39 𝑂𝑡ℎ𝑒𝑟 𝐶𝑎𝑟𝑑𝑠
              13 ∶ 39
                1 ∶ 13

52 − 13 = 39

Odds
Favourable Outcomes : Unfavourable Outcomes

𝑝(𝑏) =
3

5
⎯⎯

𝑙𝑒𝑡 𝑏 = 𝐵𝑙𝑢𝑒
𝑙𝑒𝑡 𝑟 = 𝑅𝑒𝑑

𝑝(𝑟) = 1 −
3

5
⎯⎯=

2

5
⎯⎯

𝑙𝑒𝑡 𝑎 = 𝑎𝑐𝑒 𝑝(𝑎) =
4

52
⎯⎯⎯=

1

13
⎯⎯⎯ 𝑙𝑒𝑡 ℎ = ℎ𝑒𝑎𝑟𝑡 𝑝(ℎ) =

13

52
⎯⎯⎯=

1

13
⎯⎯⎯

Roll a Dice

What are the odds of rolling a 6?

1 ∶ 5

What are the odds of Not rolling a 6?

5 ∶ 1𝑝(6) =
1

6
⎯⎯ 𝑝(1 − 5) = 1 −

1

6
⎯⎯=

5

6
⎯⎯

𝑝𝑎𝑟𝑡 ∶ 𝑝𝑎𝑟𝑡

𝑃𝑟𝑜𝑏𝑎𝑏𝑖𝑙𝑖𝑡𝑦 =
𝑃𝑎𝑟𝑡

𝑇𝑜𝑡𝑎𝑙
⎯⎯⎯⎯⎯

Blue to total? Red to total?

Part to Total

3 𝐵𝑙𝑢𝑒 ∶ 5 𝑇𝑜𝑡𝑎𝑙

3 ∶ 5

2 𝑅𝑒𝑑 ∶ 5 𝑇𝑜𝑡𝑎𝑙

2 ∶ 5

A box has 9 Blue marbles in the same ratio as above. How many 
Red marbles and Total marbles are in the box?

3 𝐵𝑙𝑢𝑒: 2 𝑅𝑒𝑑
9 𝐵𝑙𝑢𝑒: ? 𝑅𝑒𝑑

× 3 × 3

2 × 3 = 6
9 𝐵𝑙𝑢𝑒 + 6 𝑅𝑒𝑑 = 15 𝑀𝑎𝑟𝑏𝑙𝑒𝑠 

There are 15 marbles 
in the larger box.

A box has 25 marbles in the same ratio 
as above. How many Red marbles are 
in the box?

𝑟 ∶  𝑏 ∶ 𝑇
2 ∶  3 ∶ 5

Red to Blue to total?

2 𝑅𝑒𝑑 ∶   5 𝑇𝑜𝑡𝑎𝑙
?  𝑅𝑒𝑑 ∶ 25 𝑇𝑜𝑡𝑎𝑙

× 5× 5

2 × 5 = 10 25 − 10 = 15
6 𝑅𝑒𝑑 𝑀𝑎𝑟𝑏𝑙𝑒𝑠

10 𝑅𝑒𝑑 𝑀𝑎𝑟𝑏𝑙𝑒𝑠 15 𝐵𝑙𝑢𝑒 𝑀𝑎𝑟𝑏𝑙𝑒𝑠

9 ÷ 3 = 3
Bigger divided 
by smaller
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